620 LC4 RALLYE '97 <1997><EU><879977>
INSTRUMENTS / LOCK SYSTEM

20 23
4D/
24@ w18
Pos Part Number Description Additional Text Quantity
1 58312098000 ROADBOOK ELECTRONIC CPL. 1.00
5 31008060000 rubber grommet D=8mm open 4.00
6 0985050003 Self locking nut DIN 985 M5 9.00
7 58512085050 BRACKET FOR TRIPPMASTER 1.00
9 0015060203 HH COLLAR SCREW M 6X20 WS=8 4.00
10 0084050253 CYL.HEAD SCREW DIN0084-M 5X25A 4.00
12 0021050003 washer DIN 9021 A - 5.3 14.00
15 58312098003 MOUNTING CLAMP FOR ROADBOOK 2.00
18 0084050163 CYL.HEAD SCREW DIN0084-M 5X16A 3.00
20 58312099073 BRACKET FOR TRIPPMASTER SENSOR 1.00
22 58312090000 TRIPMASTER ICO 1.00
23 58312090001 TRIPMASTER CABLE 1.00
24 58314069050 MAGNET LOOSE '97 1.00

27570



25 10001020000 HOSE CLAMP GEMI 18-29 1.00
30 0985060003 Self lock. nut DIN985-M6-A2 3.00
33 0021060003 Washer DIN9021-A 6.4 ONLY USA 3.00
35 0902060083 Oval head screw ISO 7380 M 6X8 3.00
38 58312099070 BRACKET FOR GPS TOP 1.00
39 58512093000 BRACKET FOR GPS BELOW 1.00
41 43205062100 silentbloc 20x15-M6x10-(1) ONLY FOR USA 3.00




